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수능(순⊙서)기출 

 

1. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2023. 수능)  

A fascinating species of water flea exhibits a kind of flexibility that evolutionary biologists call 

adaptive plasticity. 

(A) That’s a clever trick, because producing spines and a helmet is costly, in terms of energy, and 

conserving energy is essential for an organism’s ability to survive and reproduce. The water flea 

only expends the energy needed to produce spines and a helmet when it needs to. 

(B) If the baby water flea is developing into an adult in water that includes the chemical signatures 

of creatures that prey on water fleas, it develops a helmet and spines to defend itself against 

predators. If the water around it doesn’t include the chemical signatures of predators, the water 

flea doesn’t develop these protective devices. 

(C) So it may well be that this plasticity is an adaptation: a trait that came to exist in a species 

because it contributed to reproductive fitness. There are many cases, across many species, of 

adaptive plasticity. Plasticity is conducive to fitness if there is sufficient variation in the environment.                                                            

* spine: 가시 돌기 ** conducive: 도움되는 
 

① (A) － (C) － (B) ② (B) － (A) － (C) ③ (B) － (C) － (A) ④ (C) － (A) － (B) ⑤ (C) － (B) － (A) 
 

2. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2023. 수능) 오답률 70.9% 

The most commonly known form of results-based pricing is a practice called contingency pricing, 

used by lawyers. 

(A) Therefore, only an outcome in the client’s favor is compensated. From the client’s point of view, 

the pricing makes sense in part because most clients in these cases are unfamiliar with and possibly 

intimidated by law firms. Their biggest fears are high fees for a case that may take years to settle. 

(B) By using contingency pricing, clients are ensured that they pay no fees until they receive a 

settlement. In these and other instances of contingency pricing, the economic value of the service 

is hard to determine before the service, and providers develop a price that allows them to share 

the risks and rewards of delivering value to the buyer. 

(C) Contingency pricing is the major way that personal injury and certain consumer cases are billed. 

In this approach, lawyers do not receive fees or payment until the case is settled, when they are 

paid a percentage of the money that the client receives.                        * intimidate: 위협하다 

 

① (A) － (C) － (B) ② (B) － (A) － (C)  ③ (B) － (C) － (A) ④ (C) － (A) － (B)  ⑤ (C) － (B) － (A) 
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3. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오.   (2022. 10) 오답률 63.9% 

Humans are unique in the realm of living beings in knowing there is a future. If people experience 

worry and hope, it is because they realize the future exists, that it can be better or worse, and that 

the outcome depends to some extent on them.  

(A) That is why we so often have a poor relationship with the future and are either more fearful than 

we need to be or allow ourselves to hope against all evidence; we worry excessively or not enough; 

we fail to predict the future or to shape it as much as we are able. 

(B) The future, on the other hand, must be imagined in advance and, for that very reason, is always 

uncertain. Getting along with the future is not an easy task, nor is it one in which instinct prevents 

us from blunders. 

(C) But having this knowledge does not imply that they know what to do with it. People often repress 

their awareness of the future because thinking about it distorts the comfort of the now, which tends 

to be more powerful than the future because it is present and because it is certain.         

* blunder: 큰 실수 

① (A) - (C) - (B)  ② (B) - (A) - (C)  ③ (B) - (C) - (A) ④ (C) - (A) - (B)    ⑤ (C) - (B) - (A) 

4. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오.  (2022. 10) 오답률 69.0% 

Bipedalism, upright walking, started a chain of enormous evolutionary adjustments. It liberated 

hominin arms for carrying weapons and for taking food to group sites instead of consuming it on the 

spot. But bipedalism was necessary to trigger hand dexterity and toll use. 

(A) This creates the ability to use each digit independently in the complex manipulations required for 

tool use. But without bipedalism it would be impossible to use the trunk for leverage in accelerating 

the hand during toolmaking and tool use. 

(B) Hashimoto and co‑workers concluded that adaptations underlying tool use evolved independently 

of those required for human bipedalism because in both humans and monkeys, each finger is 

represented separately in the primary sensorimotor cortex, just as the fingers are physically 

separated in the hand. 

(C) Bipedalism also freed the mouth and teeth to develop a more complex call system as the 

prerequisite of language. These developments required larger brains whose energy cost eventually 

reached three times the level for chimpanzees, accounting for up to one‑sixth of the total basal 

metabolic rate.  

* hominin: 호미닌(인간 조상으로 분류되는 종족) * dexterity: (손)재주 ** sensorimotor cortex: 감각 운동 피질 

① (A) - (C) - (B)  ② (B) - (A) - (C)  ③ (B) - (C) - (A) ④ (C) - (A) - (B)    ⑤ (C) - (B) - (A) 
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5. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2023. 9) 

When two natural bodies of water stand at different levels, building a canal between them presents 

a complicated engineering problem.  

(A) Then the upper gates open and the ship passes through. For downstream passage, the process 

works the opposite way. The ship enters the lock from the upper level, and water is pumped from 

the lock until the ship is in line with the lower level.  

(B) When a vessel is going upstream, the upper gates stay closed as the ship enters the lock at the 

lower water level. The downstream gates are then closed and more water is pumped into the basin. 

The rising water lifts the vessel to the level of the upper body of water.  

(C) To make up for the difference in level, engineers build one or more water “steps,” called locks, 

that carry ships or boats up or down between the two levels. A lock is an artificial water basin. It 

has a long rectangular shape with concrete walls and a pair of gates at each end. 

 * rectangular: 직사각형의  

① (A) － (C) － (B) ② (B) － (A) － (C) ③ (B) － (C) － (A) ④ (C) － (A) － (B) ⑤ (C) － (B) － (A)  

 

 

6. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2023. 9) 오답률 55.6% 

Culture operates in ways we can consciously consider and discuss but also in ways of which we are 

far less cognizant.  

(A) In some cases, however, we are far less aware of why we believe a certain claim to be true, or 

how we are to explain why certain social realities exist. Ideas about the social world become part 

of our worldview without our necessarily being aware of the source of the particular idea or that 

we even hold the idea at all.  

(B) When we have to offer an account of our actions, we consciously understand which excuses might 

prove acceptable, given the particular circumstances we find ourselves in. In such situations, we 

use cultural ideas as we would use a particular tool.  

(C) We select the cultural notion as we would select a screwdriver: certain jobs call for a Phillips head 

while others require an Allen wrench. Whichever idea we insert into the conversation to justify our 

actions, the point is that our motives are discursively available to us. They are not hidden.                                                                      

* cognizant: 인식하는 ** discursively: 만연하게  

① (A) － (C) － (B) ② (B) － (A) － (C) ③ (B) － (C) － (A) ④ (C) － (A) － (B) ⑤ (C) － (B) － (A)  
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7. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 7) 오답률 51.9% 

It raises much less reactance to tell people what to do than to tell them what not to do. Therefore, 

advocating action should lead to higher compliance than prohibiting action.  

(A) This is a prescription that is rife with danger, failing to provide an implementation rule and raising 

reactance. Much better is to say, “To help make sure that other people provide answers as useful 

as yours have been, when people ask you about this study, please tell them that you and another 

person answered some questions about each other.”  

(B) For example, researchers have a choice of how to debrief research participants in an experiment 

involving some deception or omission of information. Often researchers attempt to commit the 

participant to silence, saying “Please don’t tell other potential participants that feedback from the 

other person was false.”  

(C) Similarly, I once saw a delightful and unusual example of this principle at work in an art gallery. 

A fragile acrylic sculpture had a sign at the base saying, “Please touch with your eyes.” The 

command was clear, yet created much less reactance in me than “Don’t touch!” would have.  

* reactance: 저항 ** rife: 가득한 *** debrief: 비밀[기밀] 준수 의무를 지우다[부여하다]  

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A) ④ (C) - (A) - (B) ⑤ (C) - (B) - (A)  

 

 

8. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 7) 오답률 60.1% 

One common strategy and use of passive misdirection in the digital world comes through the use of 

repetition.  

(A) This action is repeated over and over to navigate their web browsers to the desired web page or 

action until it becomes an almost immediate, reflexive action. Malicious online actors take 

advantage of this behavior to distract the user from carefully examining the details of the web page 

that might tip off the user that there is something amiss about the website.  

(B) The website is designed to focus the user’s attention on the action the malicious actor wants 

them to take (e.g., click a link) and to draw their attention away from any details that might suggest 

to the user that the website is not what it appears to be on the surface.  

(C) This digital misdirection strategy relies on the fact that online users utilizing web browsers to visit 

websites have quickly learned that the most basic ubiquitous navigational action is to click on a 

link or button presented to them on a website.  

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A) ④ (C) - (A) - (B) ⑤ (C) - (B) - (A)  
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9. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2023. 6) 오답률 63.3% 

The fossil record provides evidence of evolution. The story the fossils tell is one of change. Creatures 

existed in the past that are no longer with us. Sequential changes are found in many fossils showing 

the change of certain features over time from a common ancestor, as in the case of the horse.  

(A) If multicelled organisms were indeed found to have evolved before single-celled organisms, then 

the theory of evolution would be rejected. A good scientific theory always allows for the possibility 

of rejection. The fact that we have not found such a case in countless examinations of the fossil 

record strengthens the case for evolutionary theory.  

(B) The fossil record supports this prediction ―multicelled organisms are found in layers of earth 

millions of years after the first appearance of single-celled organisms. Note that the possibility 

always remains that the opposite could be found.  

(C) Apart from demonstrating that evolution did occur, the fossil record also provides tests of the 

predictions made from evolutionary theory. For example, the theory predicts that single-celled 

organisms evolved before multicelled organisms.  

① (A) －(C) － (B)  ② (B) － (A) －(C)  ③ (B) － (C) －(A)  ④ (C) － (A) －(B)  ⑤ (C) － (B) －(A)  

 

10. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2023. 6) 오답률 63.5% 

In economics, there is a principle known as the sunk cost fallacy. The idea is that when you are 

invested and have ownership in something, you overvalue that thing.  

(A) Sometimes, the smartest thing a person can do is quit. Although this is true, it has also become 

a tired and played-out argument. Sunk cost doesn’t always have to be a bad thing.  

(B) This leads people to continue on paths or pursuits that should clearly be abandoned. For example, 

people often remain in terrible relationships simply because they’ve invested a great deal of 

themselves into them. Or someone may continue pouring money into a business that is clearly a 

bad idea in the market.  

(C) Actually, you can leverage this human tendency to your benefit. Like someone invests a great 

deal of money in a personal trainer to ensure they follow through on their commitment, you, too, 

can invest a great deal up front to ensure you stay on the path you want to be on.  

* leverage: 이용하다  

① (A) － (C) － (B) ② (B) － (A) － (C) ③ (B) － (C) － (A) ④ (C) － (A) － (B) ⑤ (C) － (B) － (A)  
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11. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 4) 오답률 58.2% 

What are some characteristics of cities that must be maintained even if the population decreases? 

If this question can be answered, a new city model can be proposed based on the concept. Here, we 

focus on productivity and diversity as characteristics of cities.  

(A) Given that gold mining cities and coal mining cities have risen and fallen, their vulnerability is 

obvious. A city where various people gather in various industries is secure against social changes. 

The same is true in the natural world, and the importance of biodiversity is essential for the 

sustainability of the species.  

(B) This is because ensuring productivity and diversity is the driving force for sustainability. For 

example, if there is a place to work, people gather and work there, and the population gradually 

accumulates to form a city. However, the industrial structure that depends on a single industry is 

vulnerable to social changes.  

(C) The same is true in cities. In a society where people of all ages and income levels live together, 

and diverse industries coexist while depending on each other, cities will continue to exist 

overcoming environmental changes such as population decline.  
 

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A) ④ (C) - (A) - (B) ⑤ (C) - (B) - (A)  

 

12. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 4) 오답률 66.7% 

Both ancient farmers and foragers suffered seasonal food shortages. During these periods children 

and adults alike would go to bed hungry some days and everyone would lose fat and muscle.  

(A) Typically, in complex ecosystems when weather one year proves unsuitable for one set of plant 

species, it almost inevitably suits others. But in farming societies when harvests fail as a result of, 

for example, a sustained drought, then catastrophe emerges.  

(B) This is firstly because foragers tended to live well within the natural limits imposed by their 

environments, and secondly because where farmers typically relied on one or two staple crops, 

foragers in even the harshest environments relied on dozens of different food sources and so were 

usually able to adjust their diets to align with an ecosystem’s own dynamic responses to changing 

conditions.  

(C) But over longer periods of time farming societies were far more likely to suffer severe, 

existentially threatening famines than foragers. Foraging may be much less productive and 

generate far lower energy yields than farming but it is also much less risky.  

* forager: 수렵 채집인 ** catastrophe: 참사 *** staple: 주요한  

 

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A) ④ (C) - (A) - (B) ⑤ (C) - (B) - (A)  
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13. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 3) 오답률 71.1% 

Anger and empathy — like matter and antimatter — can’t exist in the same place at the same time. 

Let one in, and you have to let the other one go. So when you shift a blamer into empathy, you stop 

the person’s angry ranting dead in its tracks.  

(A) The relief from no longer feeling “fear or hatred” toward the blamer spontaneously triggers a 

tremendous rush of gratitude and — miraculously — the person’s quiet rage turns into forgiveness 

and, beyond that, a willingness to work toward solutions.  

(B) Suddenly and unexpectedly, however, the blamer knows just how sad, angry, scared, or lonely 

the defender feels and spontaneously turns into an ally. When the defender feels understood by 

the blamer and that they are on the same side, there’s nothing to defend against. The defender’s 

wall, and with it his unspoken rage and frustration, disappears.  

(C) And what about the person who’s on the defensive? Initially, this human punching bag is 

frustrated because no matter what he or she is trying to mirror outward the ignorant blamer is 

blind to it. As a result, the person who’s under attack is usually in a state of quiet, barely controlled 

rage.                                                                      * rant: 폭언하다 ** spontaneously: 자연스럽게  

 

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A) ④ (C) - (A) - (B) ⑤ (C) - (B) - (A)  

 

14. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 3) 오답률 59.2% 

When a young child sees clouds moving across the sky, the clouds may seem alive and independent, 

perhaps dangerous. But if one sees clouds as fleecy lambs, a metaphorical chain begins to neutralize 

the fear.  

(A) “Cloud movement” becomes differentiated from the kind of movement that makes things alive, 

because the clouds move only if they are “pushed” by the wind, and what can’t move without a 

push from the outside is not alive.  

(B) The cloud may still be thought of as alive, but it is no longer terrifying. Repression and 

neutralization through metaphor are possible strategies, but there is another. Faced with the 

moving clouds, the child can theorize about their movement in such a way that the clouds cease 

to be alive.  

(C) Children develop theoretical constructs that separate the motion of clouds from the motion of 

people and animals so that eventually the fear of living clouds disappears. If things seem 

uncomfortably on the border between the alive and the not-alive, use logic to redefine the 

boundaries so that things fall more comfortably into place. If it scares you, make a theory.  

* fleecy: 털이 많은 ** repression: 억제  

① (A) - (C) - (B) ② (B) - (A) - (C) ③ (B) - (C) - (A) ④ (C) - (A) - (B) ⑤ (C) - (B) - (A)  

 



49 

 

15. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 수능) 

According to the market response model, it is increasing prices that drive providers to search for 

new sources, innovators to substitute, consumers to conserve, and alternatives to emerge.  

(A) Many examples of such “green taxes” exist. Facing landfill costs, labor expenses, and related 

costs in the provision of garbage disposal, for example, some cities have required households to 

dispose of all waste in special trash bags, purchased by consumers themselves, and often costing 

a dollar or more each.  

(B) Taxing certain goods or services, and so increasing prices, should result in either decreased use 

of these resources or creative innovation of new sources or options. The money raised through the 

tax can be used directly by the government either to supply services or to search for alternatives.  

(C) The results have been greatly increased recycling and more careful attention by consumers to 

packaging and waste. By internalizing the costs of trash to consumers, there has been an observed 

decrease in the flow of garbage from households.  

① (A) － (C) － (B) ② (B) － (A) － (C) ③ (B) － (C) － (A) ④ (C) － (A) － (B) ⑤ (C) － (B) － (A)  

 

 

16. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 수능) 

In spite of the likeness between the fictional and real world, the fictional world deviates from the 

real one in one important respect.  

(A) The author has selected the content according to his own worldview and his own conception of 

relevance, in an attempt to be neutral and objective or convey a subjective view on the world. 

Whatever the motives, the author’s subjective conception of the world stands between the reader 

and the original, untouched world on which the story is based.  

(B) Because of the inner qualities with which the individual is endowed through heritage and 

environment, the mind functions as a filter; every outside impression that passes through it is 

filtered and interpreted. However, the world the reader encounters in literature is already processed 

and filtered by another consciousness.  

(C) The existing world faced by the individual is in principle an infinite chaos of events and details 

before it is organized by a human mind. This chaos only gets processed and modified when 

perceived by a human mind.  

* deviate: 벗어나다 ** endow: 부여하다 *** heritage: 유산  

① (A) － (C) － (B) ② (B) － (A) － (C) ③ (B) － (C) － (A) ④ (C) － (A) － (B) ⑤ (C) － (B) － (A)  
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17. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2021. 10)  (오답률 67.6%) 

In a process called seeding, you need to have a time frame in mind. Start telling your family how 

you feel about your current job. Tell them how you get frustrated and bored with this job. 

(A) These stories will make them realize that you are meant to follow your passion. At times they 

need to be surprised with your small achievements, which could be some additional skills you 

acquired, or some awards you won in your field of passion. 

(B) Discuss this almost twice a week. Then start doing work related to your passion on the side and 

let them see and experience how happy you are while doing this. Find a way to get your family and 

friends involved in your passion. The more they see you doing your passion, the more they connect 

with you emotionally. 

(C) Tell them stories of how you are inspired by the passion and how it makes a difference not only 

to you but also to others. Give examples of how someone living a similar passion started his or her 

life and today how he or she is living happily. 

① (A) - (C) - (B)    ② (B) - (A) - (C)    ③ (B) - (C) - (A)   ④ (C) - (A) - (B) ⑤ (C) - (B) - (A) 

 
18. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오.  (2021. 10) 오답률 69.7% 

Living in dispersal correlates with a shocking retreat from public life, according to extensive analysis 

of the Social Capital Community Benchmark Survey of nearly thirty thousand people begun in 2000. 

It is hard to pinpoint the origin of this retreat. 

(A) Meanwhile, the architectures of sprawl inhibit political activity that requires face-to-face 

interaction. It is not that sprawl makes political activity impossible, but by privatizing gathering    

space and dispersing human activity, sprawl makes political gathering less likely. 

(B) These are both possible, but evidence suggests that the spatial landscape matters. Sociologists 

point out that the suburbs have done an efficient job of sorting people into communities where 

they will be surrounded by people of the same socioeconomic status. 

(C) It may be because people in the dispersed city have invested so heavily in private comfort that 

they feel insulated from the problems of the rest of the world. It may be that sprawl has attracted 

people who are naturally less interested in engaging with the world, socially or politically.  

* sprawl: 스프롤(무질서하게 뻗어 나간 도시 외곽 지역) 

① (A) - (C) - (B)     ② (B) - (A) - (C)    ③ (B) - (C) - (A)     ④ (C) - (A) - (B) ⑤ (C) - (B) - (A) 
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19. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 9) 오답률 70.0%,  

Green products involve, in many cases, higher ingredient costs than those of mainstream products.  

(A) They’d rather put money and time into known, profitable, high-volume products that serve 

populous customer segments than into risky, less-profitable, low-volume products that may serve 

current noncustomers. Given that choice, these companies may choose to leave the green segment 

of the market to small niche competitors.  

(B) Even if the green product succeeds, it may cannibalize the company’s higher-profit mainstream 

offerings. Given such downsides, companies serving mainstream consumers with successful 

mainstream products face what seems like an obvious investment decision.  

(C) Furthermore, the restrictive ingredient lists and design criteria that are typical of such products 

may make green products inferior to mainstream products on core performance dimensions (e.g., 

less effective cleansers). In turn, the higher costs and lower performance of some products attract 

only a small portion of the customer base, leading to lower economies of scale in procurement, 

manufacturing, and distribution.  

* segment: 조각 ** cannibalize: 잡아먹다 *** procurement: 조달  

① (A) － (C) － (B) ② (B) － (A) － (C) ③ (B) － (C) － (A) ④ (C) － (A) － (B) ⑤ (C) － (B) － (A)  

20. 주어진 글 다음에 이어질 글의 순서로 가장 적절한 것을 고르시오. (2022. 9) 오답률 62.1% 

Recently, a number of commercial ventures have been launched that offer social robots as personal 

home assistants, perhaps eventually to rival existing smart-home assistants.  

(A) They might be motorized and can track the user around the room, giving the impression of being 

aware of the people in the environment. Although personal robotic assistants provide services 

similar to those of smart-home assistants, their social presence offers an opportunity that is unique 

to social robots.  

(B) Personal robotic assistants are devices that have no physical manipulation or locomotion 

capabilities. Instead, they have a distinct social presence and have visual features suggestive of 

their ability to interact socially, such as eyes, ears, or a mouth.  

(C) For instance, in addition to playing music, a social personal assistant robot would express its 

engagement with the music so that users would feel like they are listening to the music together 

with the robot. These robots can be used as surveillance devices, act as communicative 

intermediates, engage in richer games, tell stories, or be used to provide encouragement or 

incentives.                                                                    * locomotion: 이동 ** surveillance: 감시  

① (A) － (C) － (B) ② (B) － (A) － (C) ③ (B) － (C) － (A) ④ (C) － (A) － (B) ⑤ (C) － (B) － (A)  

 


